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1. According to metabolism, why can a person get fat from overdrinking alcohol? (a)
Ethanol coverts pyruvates into lipids. (b) Alcohol inhibits b-oxidation. (c)
Ethanol is converted to acetate and then to acetyl-CoA which makes lipids. (d)
Alcohol inhibits carnitine palmitoyltransferase I.
2. Which of the following is a water-soluble vitamin? (a) vitamin K3 (b) vitamin A
(c) vitamin D2  (d) vitamin Bi2 ©
Which of the following is an essential amino acid of human? (a) A (K ()D
(d)S-
4. Which of the following is not a stop codon? (a) UAA  (b) UAG (c)UCA (d)
UGA -

5 The three-dimensional structure of a protein is determined primarily by: (a) the

(8]

sequence of amino acids in the protein. (b) associated with metal ion. (c) the
attraction and repulsion between the amiho acid residues in the protein (d) the
secondary structures.

6. Which of the following method does not separate on the basis of molecular weight?
(a) Gel filtration (b) SDS PAGE (c) Affinity chromatography (d) DNA gel
electrophoresis. |

7. Acoenzyme frequently encountered in transamination reactions is (a) biotin. (b)
tetrahydrofolate. (c) thiamine pyrophosphate. (d) pyridoxal phosphate.

8. The final electron acceptor in electron transfer chain is: (a) cytochrome ¢ (b)
oxygen (c)water (d)ATP -

9. What is the net ATP yield in per glucose during glycolysis in aerobic condition?
(a)2 ()4 (¢)30 (d)32-

10. A DNA sequence is 5’-ATCGCCTTA-3", which of following is its transcription
product? (a) 5’-TAAGGCGAT-3° (b) 5>-TAGCGGAAT-3* (c)5’-
UAGCGGAAU-3° (d) 5’-UAAGGCGAU-3".
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